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[4766] - 101
M.C.A. (Commerce Faculty) (Semester - 1)
102 : SYSTEMS ORGANISATION AND MANAGEMENT

(2009 Pattern)

Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  All questions carry equal marks.

Q1) Answer the following : (Any Four) [16]
a) Define Management. State characteristics of Management.
b) Whatis Directing?
c) Write difference between sales and marketing.
d) What isthe information required by a personnel manager about system?
e)  Write a note on SWOT Analysis.

Q2) Attempt any two of the following : [16]

a) What is Information and Technology? Write information required by
each Level of Management.

b) “Information System Management is the backbone of Global Industry”.
Explain and prove.

c) What is Motivation? Write theory x and Theory y of Motivation.

Q3) Write short notes : (Any Four) [16]
a) Decision Support Systems (DSS)
b) Characteristics of Organisation
c) Expert systems
d) Formaland Informal Organisation

e) Software and Hardware.
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Q4) Attempt any four of the following : [16]

a)  What is the role of Internet in system organisation.
b) Define customer relation management.
c)  Write process of Decision - Making.
d) State Importance of Management.
e)  Write a note on Effective Communication.
Q5) Write any two of the following : [16]
a)  “Selection of right person, at right time and right place is staffing” Explain
briefly.
b) What is MIS? State role of MIS in Business Organisation.
c) Define Leadership. What are the different types of Leadership that can

be executed in an organisation?

4000
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[4766] -103 [Total No. of Pages : 3

M.C.A. (Commerce Faculty) (Semester - I)
STATISTICAL AND NUMERICAL METHODS

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Use of statistical tables and calculator is allowed.

4) Symbols have their usual meanings.

Q1) Attempt any THREE of the following;: [15]

a) Findthe root of the equation x> —9x +1 = 0 between [2,4] using Bisection
Method. Perform three iterations.

b) Use Newton Raphson Method to find the roots of the equation
X3-5X+1=0.

c) Show that E [f(x)] = (1+ &) f(x)

d) Explain the procedure to find the root of the equation by Bisection
Method graphically.

e) State i)  Trapezoidal Rule i) Simpsons (3/8)" Rule

02) Attempt any THREE of the following: [15]
a) Find the value of y at x =5, given that:

X 1 {3 41]8]10

Y 8 | 1511932140

b) Explain Trapezoidal Rule and Simpsons (1/3) rule for Numerical
Integration.

c) From the following table find the first and second order derivative at x =1 .5
X 0 0.5 1 1.5 2
Y |0.3989 0.3521| 0.2420 | 0.1295 | 0.0540

PTO.



. : dy . :
d) Find the solution of &214- XY which passes through (0,1) in the
interval (0,0.5)
(Take h = 0.1) by Picards method.
e) Findthe missing figures in the following table.
X 1 2 3 4 5 6 7 8
fx) | 1 8 27 ? 125 ? 343 | 512
03) Attempt any THREE of the following: [15]
a) Explain meaning of ‘Time Series’ with illustrations. Also discuss four
components of Time Series.
b) State different properties of Normal Distribution.
c) Explain Chi-square test for independency of two attributes.
d) LetX —N(3,2%Find P( X<5)and P(2 <X <)
e) The following 2 X 2 contingency table:
Eye colour of Eye colour of son
Father Not Light
Light
Not Light 23 15
Light 15 47
Test whether eye colour of father and son is associated at 5 % level of
significance.
04) Attempt any THREE of the following: [15]
a) Explain Concept of Autoregressive Model of First order.
b) A sample of 256 bricks has mean weight of 2.12 kg with standard deviation

of 0.56 kg. Test the hypothesis that the samples from a population with
mean weight 2 kg at 5 % level of significance.

[4766] - 103 -2-



c) Fitastraight line for the following data:
Year 1998 | 1999 | 2000 | 2001 | 2002
Production| 12 20 28 32 50
Also estimate the trend for the year 2007.
: ¢ dx .
d) Estimate the value of f —— by using Simpsons (1/3) rd rule (take h=1)
21+ X
e) Suppose the sweets are sold in packages of fixed weight of the contents.
The producer of the packages is interested in testing that the weight of
contents in a packages is 1 kg hence a random sample of 12 packages is
drawn and their average weight is found to be 0.9883 and sample standard
deviation is to be 0.02. Can he conclude about average weight of contents
in the packets? (Givent, ,, =2.201)
05) Attempt any TWO of the following: [20]
d
a) Given d_z(/ =X+Y ifx=0, theny=1 .Find y(0.1) and y((0.2) correct up
to four decimal places by using Runge-Kutta second order and fourth
order formula.
OR
- Y _ _
Using Eulers method, solve I 1 +y* ,given y(0) = 0. Take h = 0.05
and obtain y(0.05), y(0.1) and y(0.15)
b) An IQ test was administered to five persons before and after they were
trained. The result are given below:
Candidates | A B C D E
IQ before | 110 | 120 | 123 | 132 | 125
Training
IQ after 120 | 118 | 125 | 136 | 121
Training
Test whether there is change in 1Q before and after the training programme
(5 % Level of Significance)
c) Find 4 yearly centered moving averages for the following data:

Year | 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011

Sale | 68 62 61 63 65 58 66 61 68 63 63 67

Also draw the original and average trend on the same graph paper.

SISIS

[4766] - 103 -3-



Total No. of Questions : 5] SEAT No. -
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[4766] - 104
M.C.A. (Commerce Faculty) (Semester - I)
105 : OPERATING SYSTEM
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  Neat diagrams must be drawn wherever necessary.

2)  All Questions are compulsory.
Q1) Attempt any four of the following : [4 x 4 = 16]

a)  What is dispatcher? What are the functions performed by Dispatcher?
b) Explain Real Time System with its advantages and Disadvantages.

c) Explain Overlays in detail.

d) Differentiate between MVT and MFT job Scheduler.

e) State and explain the conditions to be satisfied by a solution to the
Critical Section Problem.

Q2) Attempt any four of the following : [4 x 4 = 16]
a) Explain in brief services provided by operating system

b) List and explain the sequence of utilization of resource by process in
normal mode of operation.

c) Explain Process Control Block with diagram.
d) List and Explain Scheduling Criteria.

e) Write a note on copy on write.

PTO.



Q3) Attempt any four of the following : [4 x 4 = 16]

a) Explain Direct Access method in detail.
b) List and explain in brief system calls provided by the operating system
for the File Manipulation.
c) Differentiate between Long term and Medium Term Scheduler.
d) Calculate Average Waiting Time and Turn Around Time for FCFS
CPU Scheduling Algorithm
Process Burst Time | Arrival Time
P1 5 1
P2 6 0
P3 2 2
P4 4 0
e) What is Thrashing?
Q4) Attempt any four of the following : [4 x 4 = 16]
a) Explain the Following System Program :
1) Loaders
i) Assemblers
b) Define Deadlock. Explain in brief three ways to deal with deadlock
problem.
c) List and Explain operations on File.
d) What is Reentrant Code? How it is implemented using paging?
e) Consider the following Page Reference string :

3,7,4,8,3,4,5,6,2,3,4,5,6,7

The number of frames is 3. Show Page trace and calculate page Faults
of the following Page Replacement Algorithm.

) FIFO
i) LFU
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Q5) Attempt any four of the following : [4 x 4 = 16]
a) List and Explain different types of Scheduling Queues.
b) Explain Inverted Page Table with Diagram.
c) Explain Linked Allocation method in detail.
d) Consider the following snapshot of a system

Allocation Max
A B C D A B C D
PO 0 0 1 2 0 0 1 2
P1 1 1 0 0 1 7 5 0
P2 1 3 5 4 2 3 5 6
P3 0 6 3 2 0 6 5 2
P4 1 0 1 4 1 6 5 6
Available
A B C D
1 4 2 0

Answer the following Question :
1)  What is the content of need matrix?
i) Isthe system in safe state?
e) Explain the following terms :
1) Page Table
i) Preemptive Scheduling
i) Burst Time
Iv) Starvation with related to deadlock

363838
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[4766]-105

M.C.A (Commerce) SEMESTER - |
(106) Software Engineering

yTime : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw diagrams wherever necessary.

0l) Solve the following case stuedy:

"Star Four wheelar Ltd" has issued an advertisement calling an
application For various posts. After receiving applications, scrutiny will
be made and Interview letters will be sent. Deserving candidates will be
selectedthrough interviews and will be appointed as regular employees.

b) Eplain the roles of manager in detail for business. [7]

02) a) Explainin brief Modern Approach. Explain any one of the Approaches|7]

b) Henry Fayol's contribution in the field of management. [7]
03) a) Define Organizing. Explain types of organizations in detail [7]
b) Define the term Controlling and its techniques [7]

PTO.



04) a)

b)
05) a)

b)

Q0)

Define the term delegation of authority. Discuss the difficulties in delegation
of authority. [7]

Motivation. Explain McClelland's need for achievement [7]

"Doing things right or Right things doing", which is the right from of

implementing Management. [7]
Application of strategic management in business organization. [7]
Short Notes (Any Two) [8]
Strategic Management

Staffing

Social responsibility of Management

Foresting v/s Planning.

DOO®
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[4766] - 201
M.C.A. (Commerce) (Semester - 11)
202 : RELATIONAL DATABASE MANAGEMENT SYSTEM
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) Neat diagrams must be drawn wherever necessary.
2)  Figures to the right side indicate full marks.
3) All questions are compulsory.

Q1) Attempt all of the following : [8 X 2 =16]
a) List any two advantages of DBMS.
b) Define: -

i)  Weak entity set
i)  Strong entity set
c) Whatis mean by Referential Integrity?
d) Define Precedence Graph with example.
e) Which are Armstrong’s Axioms?
f)  Which are different fields of update log record?
g)  Whatis Privilege? List four Privileges.
h)  Give syntax of GRANT command.

02) Attempt any four : [4 X 4 =16]
a)  Write a note Validation Based Protocol.
b) Explain following Relational Algebra operations
i)  Project

i)  Select

PTO.



c)

Write a note on Deferred Database Modification Technique.

d) What are different functions of DBA?
e) Whatis Data Model? Explain Different Categories of Data Model.
03) Attempt any four : [4 X 4 =16]
a)  What is Deadlock? How it is detected?
b) What is transaction? Explain ACID properties of transaction.
c) Differentiate between Generalization and Specialization.
d) Write a note on functional dependency.
e) Define:
i)  Relation
ii)  Entity
i) Attribute
iv) Database Instance
04) Attempt the following : [10 + 6 = 16]

A) A ‘Diamond’ an agency for flat booking and it has number of builders

B)

and agents. A customer can get a flat for residential or commercial
purpose. If customer approach through an agent to the agency and
builders are giving some commission to the agent. An agent shows various
flats and sites within various locations.

Draw E- R Diagram for the above scenario. Identify Entities and
Relationships among Entities. [1+ 10 =10]

Attempt all of the following : [2 x 3 =06]

a) Whatis difference between binary and ternary relationship? Explain
with example.

b) Whatis BCNF? Explain with example.
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05) Attempt following : [10 + 6 = 16]

A)

B)

Consider the following Schema. [1 x 10 =10]
Doctor(dno, dname, city)

Patient(pno,pname, address,disease, dno)

Doctor and Patient are related with One to Many relationship

Solve the following queries using SQL. [3 x2=6]
i)  Find name of patient who are treated by ‘Dr. Apte’

i)  Display doctor wise details of patient.

i) Count the number of patient suffering from ‘Asthma’.

Solve the following queries using Relational algebra. [2 X2 =4]
i)  Find the names of doctor who are treating the ‘Diabetics’ Patient.
i)  List the name of doctors from 'Pune' city.

Attempt all of the following : [2 x 3 =06]

i)  Consider the following transactions

T1 T2
R(A) R(B)
A=A-30 B=B+20
W(A) W(B)
R(B) R(C)

B=B+100  C=C+50
W(B) W(C)

Find out a schedule which is serializable to serial schedule<T1, T2>
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ii) Consider the following non-serial schedule. Is this schedule is
serializable to serial schedule <T1, T2, T3>?

T1 T2 T3
R(p)
W(p)
R(r)
R(q)
W(q)
R(q)
W(q)
R(q)
R(p)
Wi(p)
R(r)
W(q)
W(r)
00

[4766] - 201 4



Total No. of Questions : 5] SEAT No.

P3276 [Total No. of Pages : 5
[4766] - 202
M.C. A. (Commerce Faculty) (Semester - 1)
203 : COSTACCOUNTING & COST CONTROLTECHNIQUES
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) a) Define Cost Accounting state the advantages of Cost Accounting. [8]

b) What is financial Accounting? Explain the limitations of financial
Accounting. [8]

02) Write short notes on (any four) : [16]
a) Cost Unit
b) Functional Classification of overhead
c) Features of Job Costing
d) Break Even Point
e) Methods of Overhead Absorption
f)  Advantages of Budgetary Control

03) The Cost accounts Amit Ltd. Nasik for the year ended 31.3.2014 showed the

following information. [16]
Types of Stock 1.4.2013 31.3.2014
Raw Materials 65,000 50,000
Work in-progress 10,000 7,500
Finished stock 15,000 5,000

PTO.



Underwriting commission

Purchases of Raw Materials

Selling Overheads

Drawing office salaries

Productive Labour

Audit fees

Establishment on cost

Steam, Gas and Water

Sales

Rent

Factory - %

Office - %

Architect's fees

Wages outstanding

Octroi and Duty

Distribution on cost

Prepare cost sheet showing

[4766] - 202

Cost of Material Consumed.
Prime Cost

Works Cost

Cost of production

Total Cost

Profit

Rs.

10,000
2,60,000
8,000
12,000
1,65,000
7,000
2,000
1,500

5,50,000

15,000

10,000
5,000
5,000
2,000



04) Product XYZ is obtained after it passes through three distinct processes. You
are required to prepare process accounts from the following information.[16]

Process
[tems Total I I 1
Material 1,50,840 52,000 39,600 59,240
Direct wages
Production 1,80,000 40,000 60,000 80,000
Overheads 1,80,000 - - -

1000 units @ Rs. 60 per unit were introduced in process I. Production
Overheads to be distributed as 100% on direct wages.

Actual Normal | Value of scrap
Output (units) loss per unit Rs.
Process 1 950 5% 40
Process 11 840 10% 80
Process 111 750 15% 100
OR

Mr. Patil Builders, Pune, undertake a contract for Rs. 50,00,000/- of
construction of a Hospital. The following is the information relating to the

contract during the year 2013.
Particulars
Material sent to site
Material Purchased directly
Labour -
Out standing wages
Plant installed at site

Depreciation on plant

[4766] - 202 3

Rs.

10,00,000
7,06,980

14,00,000

87,500

3,00,000

30,000



Direct Expenses 63,340

Out standing direct Expenses 5,800
Overhead charges 82,520
Material returned 10,980
Work certified 39,00,000
Work not certified 90,000
Material at siteon 31.12.13 37,660
Overhead charges payable 92,500
Cash Received from contractee 36,00,000

Prepare Contract Account & Contractee Account

05) A factory produces 20,000 units the budgeted expenses are given below.[16]

Particulars Per Unit Rs.

Raw Material 75
Direct Labour 20
Direct Expenses 25
Overheads 15
Fixed overheads (Rs. 4,00,000) 20
Administrative Expenses (Fixed) 10
Selling Expenses (10% fixed) 15
Distribution expenses (25% fixed) 20

Total Cost Per Unit 200

You are required to prepare a budget for 15,000 and 10,000 units.
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a) The following information obtained from Arun Kumar Co. Ltd. for the

OR

year ended 31 March, 2014.

Sales -

Variable Cost

Fixed Cost

3,00,000
2,25,000

25,000

Your are required to calculate :-

i)
if)

P. V. Ratio

Break-even point sales.

i) Profit when sales amounted to Rs. 4,50,000.

iv) Sales to earn a profit of Rs. 80,000.

b) From the following particulars calculate the following material variances.[8]

i)
if)

Material Standard Actual
Qty. (kg) | Price (Rs.) | Qty (kg) | Price (Rs.)
A 10 8 10 7
B 8 6 9 7
C 4 12 5 11
22 - 24 -

Material Cost Variance.

Material Usage Variance

i) Material Price Variance
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M.C.A. (Commerce Faculty) (Semester - II)
ACCOUNTING FOR MANAGEMENT

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory & carry equal marks.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed

Q1) Define "Management Accounting". Explain its scope & functions. [16]
OR

Define "Budget" and "Budgetary Control". State objectives of budgetary control.
Also explain the essentials of successful budgetary system.

02) From the following particulars relating to MC Industries Ltd., prepare a Balance

Sheet as on 315 March 2014. [16]
Fixed Asset Turnover Ratio 1:2

Debt Collection Period 2 Months

Gross Profit 25%

Fixed Assets to Current Assets 1:1

Long Term Debts to Current Liabilities 1:3

Current Ratio 2

Share Capital to Reserve 5:2

Value of Fixed Assets Rs. 21,00,000/-
Inventory Turnover Ratio 3

PT.O.



03)

OR

Define "Financial Statements Analysis". Explain various techniques of Financial
Statement Analysis.

Two firms A & Co. Ltd. And B & Co. Ltd. sell the same type of product in
the same market. Their budgeted profit & loss account for the year ending
315t March, 2014 was as follows.

Particulars A & Co. Ltd. B & Co. Ltd.

Amount Amount | Amount Amount
Rs. Rs. Rs. Rs.

Sales 50,00,000 60,00,000

Variable Costs 40,00,000 40,00,000

Fixed Costs 3,00,000| 43,00,000 | 7,00,000 | 47,00,000

Profit 7,00,000 13,00,000

Required : [16]

a) Profit Volume Ratio of both the companies

b) Break Even Point of both the companies.

c) Calculate at which sales volume, both the firms will earn same amount of profit.

d) State with reasons which firm is likely to earn greater profit in conditions of

i)  Heavy demand for the product.

i) Low demand for the product.

OR
From the information given below prepare a Cash Budget for the three months
Ending 30™ June 2014.
Month Sales (Rs.) | Material (Rs.) | Wages (Rs.) |Overheads (Rs.)
February 1,40,000 96,000 30,000 17,000
March 1,50,000 90,000 30,000 19,000
April 1,60,000 92,000 32,000 20,000
May 1,70,000 1,00,000 36,000 22,000
June 1,80,000 1,04,000 40,000 23,000
-2-
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a) Credit terms are :

i)  10% sales are on cash basis, 50% of the credit sales are collected
in next month and the balance in the following month.

i)  Creditors -

For Materials 2 months lag in payment
For Wages a2 month lag in payment
For Overheads %2 month lag in payment

b) Cash & Bank balance on 1* April 2014 is expected to Rs. 60,000/-.

c) Plant will be installed in February 2014 at a cost of Rs. 9,60,000/-. The
monthly installment of Rs. 20,000/- is payable from April 2014 onwards.

d) Dividend at 5% on preference share capital of Rs. 20,00,000/- will be
paid on 1% June, 2014.

e) Advance to be received from sale of vehicle Rs. 90,000/- in June 2014.

f)  Dividends from investments amounting to Rs. 10,000/- are expected to
be received in June 2014.

g)  Advance Income Tax of Rs. 20,000/ is to be paid in the month of June 2014.

04) Balance Sheets of Anxious Ltd. as on 31% March 2013 and 3 1% March 2014.

Liabilities 31.03.2013 | 31.03.2014 | Assets 31.03.2013| 31.03.2014
Rs. Rs. Rs. Rs.

Share Capital 3,00,000 | 3,60,000 |Fixed Assets 2,20,000  2,30,000

General 60,000 75,000 | Investments 40,000 30,000

Reserve

Profit & Loss 40,000 | 1,20,000 |S.Debtors 1,80,000|  2,10,000

Ale

12% 2,50,000 | 1,50,000 |Bills 60,000 55,000

Debentures Receivables

Mortgage 50,000 50,000 | Stock 2,10,000 1,90,000

Loans

S. Creditors 1,20,000 |  1,10,000 |Cash & Bank 1,70,000|  2,28,000

R.D.D. 5,000 6,000 |Disc. on issue of 15,000 10,000

Debentures

Bills Payable 30,000 40,000

Provision for 40,000 42,000

Taxations

Total 8,95,000 [ 9,53,000 8,95,000|  9,53,000
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Additional Information : -

a)

b)
©)
d)
e)

Fixed Assets costing Rs. 30,000/- (accumulated depreciation Rs. 15,000/-) was
sold for Rs. 18,000/-.

Interim dividend declared & paid amounted to Rs. 15,000/-
Taxes paid during the year was Rs. 38,000/-
Depreciation charged on fixed assets amounted to Rs. 22,000/-

Debentures were redeemed by purchase in open market at Rs. 102/- per
Rs. 100/-

Prepare Funds Flow Statement, Statement showing changes in working capital
along with necessary workings. [16]

OR

What do you mean by Ratio Analysis? State the advantages and limitations of
Ratio Analysis.

05) Write Short Notes (Any two) [16]

a)
b)
c)
d)

Advantages of Cash Flow Statement.

Breakeven chart.

Objectives of Analysis of Financial Statement.

Limitations of Management Accounting.

ARMXRM™XR
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M.C.A. (Commerce Faculty) (Semester - 11)

205 : NETWORKING OPERATIONS

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) Neat diagrams must be drawn wherever necessary.
2) Figures to the right side indicate full marks.

3) All questions are compulsory.
Q1) Attempt the following (Any Four): [16]
a)  Explain mesh topology with neat diagram.
b)  Write functions of session layer.
c) Write note on BNC connector.

d) Explain gateways in details.

e) Explain features of Ethernet.

Q2) Attempt the following (Any Four): [16]
a)  What is LAN? Write technologies used to build LAN.
b) Discuss the design issues of the layer.
c) Write note on Twisted pair.
d) Explain source route bridging.

e)  Write components and functions of network interface cards.

P.T.O.



Q3) Attempt the following (Any Four): [16]

a) Compare synchronous and asynchronous communication types.
b)  Write functions of network layer.
c) Explain unguided transmission media.
d) Compare passive and active hubs.
e)  Write frame format of IEEE 802.5.
Q4) Attempt the following (Any Four): [16]
a) Compare server based and peer to peer LANS.
b) Compare ISO-OSI and TCP - IP model.
c) Explain any two propagations methods.
d) Explaintwo layer switches.
e) Explain concept of intranet and extranet.
Q5) Write note on the following (Any Four): [16]
a) Internet.
b) TCP/IP model.
c) Bluetooth.
d) Internet Information Server (11S).
e)  WWW Architecture.

Q00
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P3279 [4766] _1205 [Total No. of Pages : 3
M.C.A. (Commerce) (Semester - 1V)
206 : OBJECT ORIENTED PROGRAMMING
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Assume Suitable data jf necessary.
4) Answer of sub questions of each questions should be attempted at one place. It
should not be written separately.
Q1) Attempt any four: [4 < 4 =16]
a) Explain the use of “super” keyword with the help of examples.
b) Whatis inline function? Explain with example.
c) Compare multiple inheritance used in Java and C++?
d) Explain the rules of operator overloading.
e) How arrays are represented in C++? Explain with suitable example.
02) Attempt any four: [4 X 4 =16]
a) Explain characteristics of friend function,
b) What is the meaning of following statement and each keyword?
i)  System.out.println()
i)  public static void main(String args[])
c) How can we define member functions in C++? Explain with examples.
d) Explain the keywords: public, private and protected.
e) Write a note on : Virtual base class.

P.T.O.



03) Attempt any four: [4 x 4 =16]

a) Explain the use of ‘new’ keyword in java.

b) Why Java needs compiler and interpreter?

c) Explain abstract classes and methods with example.

d) Differentiate between function overloading and function overriding.

e) Canwe extend interfaces? Explain with example.

04) Attempt any four: [4 X 4 =16]

a) Write a C++ program that can accept two numbers and print addition
using operator overloading ‘+*

b) Write a java program which accepts marks of three subjects. If marks
are more than 80 then display an error message “ERROR : Marks out of
range”. (Use Exception Handling)

c) Write a C++ program to display the following
C
CL
CLA
CLAS
CLASS

d) Write a C++ program to find out minimum of two integers of two different
classes using friend function.

e) Write a Java program to read line of integers. Display each integer and
also display sum of only odd integers.

05) a) Trace the output: (Assume there is not syntax error): [2 X 4 =8]
) intm=l;
while(m<I 1)
{
m++;
cout<<m-+;
}

What will be the output, when executed? Explain Why?
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i)  Public class Test

{
public static void main (String a[])
{double[] x=new double[] {I, 2, 3};
System.out.println(x[1]);
}
}

What will be the output, when executed? Explain Why?

b) Attemptany two: [2 X 4=8]
i)  Write a Java program to accept string from the user and count
frequency of each vowel in the given string.
i)  Write a C++ program to calculate volume of a sphere using a
parameterized constructor.
i) Write a program that accepts a shopping list of 5 items from
command line and store, display them. (using array).

AOOAO
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Total No. of Questions : 5] SEAT No.

P3280 [Total No. of Pages : 2
[4766] - 301

M.C.A. (COMMERCE) (Semester - 111)
301 : ADVANCED OPERATING SYSTEM

(2008 Pattern)

Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  All questions carry equal marks.
3) Draw necessary diagram whenever required.

Q1) Answer the following : (Any 4) [16]
a) Explain Queued and Non - Queued Messages.
b) What are different methods to get handle to device context (hdc)
c) Whatarethe key strokes messages? Explain LPARAM & WPARAM values.

d) Differentiate between model dialog box & modeless dialog box.
e) Explain client area and Non - client area mouse messages.

Q2) State True or False and Justify your answer : (Any 4) [16]

a) SDK provides a comprehensive set of tools for building menus &
modifying them as the program runs.

b) Functionality of child window can be modified.
c) WM -TIMER is a low priority messages.

d) Window is multitasking operating system.
e) WM - Queit message destroys the message in Queue.

Q3) Answer the following (Any 8): [16]
a)  Write syntax for Read system call.
b) Define caret. State its function.
c) Write any two advantages of Buffer cache.
d) Define pipe. Write its syntax.
e) What is role played by post quit message ()
f)  What are metafiles.
g) Whatare mounting & unmounting file system.
h)  What are the functions of kernel.
I)  Define shell. State its types.

) What are the child window controls.
P.T.O.



Q4) Answer the following (Any 4) : [16]
a)  Write a shell program to print odd & even numbers between 1 to 100.
b)  Write a shell program to determine whether a year is leap or not.

c) Write a window procedure to scroll string “Welcome” in client area by
using Timer method.

d) Write a window procedure for chessboard.

e) Display push button at the centre of client area, using UP - down, left -
right arrow keys move it accordingly.

Q5) Answer the following (Any 4) : [16]
a) Define process. Explain process state transition diagram.
b)  Write an algorithm for link system call.
c) Explain UNIX system architecture in detail.
d) What are the different system calls for file system? Explain with syntax.
e) Explain Allocation of Disk Blocks.

400
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Total No. of Questions : 5] SEAT No. :

P3282

[4766] - 303 [Total No. of Pages : 2

M.C.A. (Commerce) (Semester - I11I)
BUSINESS STRATEGIES
304 : Business Strategies

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

3) Figures to the right side indicate full marks.

Q1) Explain the following terms: (Any Four) [16]
a) Business strategy
b) Mission statement
c) Horizontal integration
d) Business policy
e) Strategic Planning

f)  Business Environment

02) Answer the following questions: (Any four) [16]
a) Explain the characteristics of a strategy.
b) What do you mean by SWOT Analysis?
c) State and explain the concept of Political environment.
d) Describe the Issues involved in the implementation of a strategy.
e) What do you mean by Strategic Alliance?
f)  What do you mean by marketing strategy?

03) Answer the following questions: (Any four) [16]
a) State and explain the essentials of a mission statement.
b)  What are the objectives of Organizational appraisal?
c) Explain the need of Environmental Scanning.
d) Describe the issues involved in the formulation of strategies.

e) Explain the concept of Value chain Analysis.

P.T.O.



04) Answer the following questions: (Any two) [16]

a) “An effective strategy is one that helps the organization to achieve its
goals”. Explain the statement.

b) What do you mean by competitive environment? How is competitive
environments information obtained?

c) Discuss different subjective factors which influence strategic choice?

05) Write short notes: ( Any four) [16]
a) Sources of information for organizational analysis.
b) Features of strategic decisions.
c) Characteristics of good control system.
d) Differentiation strategy.
e) Reasons for Mergers & acquisition.
f)  Growth Strategy.

SISIS
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Total No. of Questions : 5] SEAT No. -

P3283 [Total No. of Pages : 2
[4766] - 304
M.C.A. (Commerce Faculty) (Semester - I1I)

305 : CYBER LAW AND ETHICS
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All Questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any four of the following : [4 x 4 = 16]
a) Explain Intellectual property in cyberspace.
b) Explain in brief retention of electronic records.
c) Explain the term controller to act as repository.
d) Give the rules for renewal of license.

e) Explain section under duties of subscribers.

Q2) Attempt any four of the following : [4 x 4 = 16]
a) Explain encryption with example.
b) Define and explain block cipher and stream cipher.

c) What is symmetric cryptosystem? Give some limitations of symmetric
cryptosystem.

d) Explain in details Asymmetric key-operation.

e) Explain RSA algorithm

PTO.



Q3) Attempt any four of the following : [4 x 4 = 16]
a) What is Data Integrity? Explain with example.

b) Explain triple DES.
c) Give some advantages of public key encryption.
d) What is www? Explain in details.

e) Explain in brief formation of electronic contracts.

Q4) Attempt any four of the following : [4 x 4 = 16]
a) How cyber crimes are classified? Explain.
b) Explain the term computer as target of the crime.
c) What is computer virus? Explain.
d) Explain User Datagram Protocol (UDP) attack.

e) Explain web Based crimes.

Q5) Attempt any four of the following : [4 x 4 = 16]
a) Explain mistake in electronic commerce.
b) Explain e-email stalking
c) What is online Harassment? Explain.
d) Give a brief description of Bulletin Board system.

e) Explain a real problem in the virtual world concerned to cyber stalking.

2
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Total No. of Questions : 5] SEAT No. :

P3284 [Total No. of Pages : 2
[4766]-305

M.C.A (Commerce Faculty) (Semester - 111)
306 : FINANCIAL AND INVESTMENT ANALYSIS

Time : 3 Hours] [Max. Marks : 80

N.B.: 1) All questions are compulsory.
2) All questions carry equal marks.

0l1) What is Mutual Fund? Explain the importance of Mutual Fund as an
investment opportunity for small investors in comparison with equity
shares and bonds.

OR

What is Financial and Investment Analysis? Explain the various quantitative
and qualitative aspects of financial analysis.

02) Explain the various techniques of risk reduction as a (Port folio) Manager'
OR
What is 'Diversification'? Explain the various methods of effecting
diversification.
03) What do you understand by Portfolio Investment Performance? Explain

the various components of Portfolio Investment Performance.
OR
What is Investment Process? Explain the various stages in Investment

Process.

PTO.



04) What is MARKOWITZ Model? Explain the assumptions and parameters
of Markowitz diversification.

OR

What is 'Industry analysis'? Explain the various factors in Industry
Analysis.

05) Write detailed notes on any two of the following::
a) O.T.CE.L

b) Market Indicators

c) Risk adjustment and performance measurement.

DOOD
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Total No. of Questions : 5] SEAT No.
P3285

[Total No. of Pages : 3
[4766] - 401
M.C.A. (Commerce) (Semester - 1V)

401 : ADVANCED DATABASE MANAGEMENT SYSTEM

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) Neat diagrams must be drawn wherever necessary.
2)  Figures to the right side indicate full marks.
3) Assume suitable data if necessary.
Q1) Write a note on (any four) : [4 x 4 =16]
a) SOAP
b) HITS Algorithm
c) Vertical Fragmentation
d) Partitioned Join
e) KDD
02) Attempt any four of the following : [4 x 4 =16]
a) Differentiate between RDBMS and ORDBMS.
b) Explain R-Trees in Detail.
c) What are responsibilities of Transaction Manager and Transaction
Coordinator?
d) What is the Data Mart? What are the Advantages and Disadvantages of
the Data Mart?
e) Whatis Multimedia database?

PTO.



03) Attempt any four of the following : [4 x 4 =16]

a) What are applications of Spatial data?

b) Differentiate between OLAP vs. OLTP.

c) What are characteristics of object oriented database?

d) What is the use of vector space model?

e) Whatisreplication? What are advantages and disadvantages?

04) Attempt any four of the following : [4 x 4 =16]

a) Define:
i)  Point data
i) Region
i) Region data
vi) GIS

b) What is distributed database system? What are advantages and
disadvantages?

c) Write a short note on an Object.

d) Write a short note on Single-lock manager approach in distributed
database system.

e) Whatis XML DTD?

05) Attempt any four of the following : [4 < 4 =16]

a)  Why there is need of parallel database system? Differentiate between
shared disk and shared memory architecture.

b) Define:
i)  Recall

i) Lexicon
iii) Precision

iv) Term Frequency
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c)  Write a short note on Data Warehouse.
d) Consider the following schema
Machine(Mno, Mname, Mcost)

Perform horizontal fragmentation of machine relation using following

predicates

Pl:6

Mcost<1000
P2 b6 Mcost>= 1000 and Mcost<5000

P3:p

Mcost>= 5000

e) Perform vertical fragmentation of project relation given below project
(pno, pname, startdate, budget, status)

According to the following requirement.
i)  Site 1 requires information about pno, pname, budget.

ii)  Site 2 requires information about startdate, status.
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Total No. of Questions : 5] SEAT No.

P3286 [Total No. of Pages : 2
[4766] - 402
M.C.A. (Commerce) (Semester - 1V)
402 : DATA CENTER TECHNOLOGIES
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right side indicate full marks.
3) Assume Suitable data if necessary.

Q1) Attempt following (any four) : [4 X 4 =16]
a)  What guidelines are used for planning a datacenter?
b) Whatis network monitoring? Explain In-band and out-band monitoring.
c) Explain any two SPEC benchmarks in detail.

d) What are the different phases of capacity planning? Explain any one of
them in detail.

e)  Which factors supports to maintain high availability inside datacenter?

02) Attempt following (any four) : [4 X 4 =16]

a) What do you mean by ‘build budget’ and ‘run budget’? What things are
taken in consideration to decide budget for datacenter?

b) What are the advantages of load balancing?
c) What are the drawbacks of complex cluster configuration?
d) Whatis logical security within datacenter?
e) Explain following:
i)  TPC-H benchmark
i) TPC-W benchmark

PTO.



03) Attempt following (any four) : [4 X 4 =16]

a) Enlist different automation tools. Explain any three of them in detail.

b) Explain various components provided by ISP within datacenter.

c) How to estimate power needs for datacenter?

d) Explain following cluster components
i)  Adapter SCSI ID requirement
i) Local disks

e) What is system administration? Explain various duties of system
administrator.

04) Attempt following (any four) : [4 < 4 =16]

a) What things are taken in consideration to make configuration and
maintenance easy within datacenter?

b)  Why there is need to maintain proper environment within datacenter?

c) Explain different aspects of system performance.

d) Enlist various methods of placing hardware racks within datacenter.
Explain any one method in detail.

e) Whatisserver sizing? Why server sizing and capacity planning are difficult
and produces inaccuracies?

05) Attempt following (any four) : [4 X 4 =16]

a) Hardware based load balancing methods.

b) Private Heartbeat Networks

c) Generators

d) Modular cabling Design.

e) Asymmetric two node cluster.
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Total No. of Questions : 5] SEAT No. :

P3287 [Total No. of Pages : 2
[4766] - 403

M.C.A. (Commerce) (Semester - 1V)
403 : WEB ENABLING SYSTEM AND BUSINESS APPLICATION
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right side indicates full marks.

3) Assume suitable data if necessary.

4) Answer of sub questions of each questions should be attempted at one place. It
should not be written separately.

Q1) Attempt any Four : [4 x 4 =16]
a) Explain e-business models.
b) How Database Connection is achieved in Java?
c) Write a note on Design pattern.
d) Explain Model View Controller (MVC) Architecture.
e) Explain Client Server Technology.

02) Attempt any Four : [4 x 4 =16]
a)  Write a note on
i) e-commerce i) e-business

b) Explain Command Pattern.

c) Explain doGet( ) and doPost( ) Method.
d) Is HTML page a web component? Justify.
e) Explain J2EE Architecture.

03) Attempt any Four : [4 x 4 =16]
a) Explain JDBC Architecture.
b) Give difference between JSP & Servlet.
c) Explain types of e-business.
d) Whatis the role of XML in servlet?

e) Explain mediator pattern.

PTO.



04) Attempt any Four : [4 X 4 =16]

a) Differentiate between HTML and XML.

b)  Write steps for creating a Java Bean Application.

c) Why Adapters are used for XML in Business System?

d) Write steps for developing Web-based Applications using Servlet.
e) Explain disadvantages of bean.

05) Attempt any Four : [4 x 4 =16]
a) Create a JSP Page which inserts the current date and time in web page.
b)  Write a JDBC program to update phone number of an employee.

c) Create a XML File that stores information about five actor and five movies.
d) Write a program in Java using Servlet which accept user login information

(ie UserID, Password) and check whether entered user is valid or not valid.
e) Write aprogam in Java using JSP which accept number and check whether

the entered number is perfect number.
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Total No. of Questions : 5] SEAT No. :

P3288 [Total No. of Pages : 2
[4766] - 404

M.C.A. (Commerce) (Semester - 1V)
405 : CLIENT/SERVER TECHNOLOGY

(2008 Pattern)

Time : 3. Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.
3) Figures to the right side indicate full marks.

4)  Use of Calculator is allowed.

5) Assume suitable data if necessary.

Q1) Attempt Any Four: [4 x 4 =16]
a)  What are the different types of server? Explain.
b) Whatis server -to-server middleware? Explain with example.
c) Write a short note on protocol matchmaker.
d) How to connect to a database using the connection object?

e) Whatisframe Relay? Explain.

Q2) Attempt Any Four: [4 x 4 =16]
a)  Write a short note on small shops and department?
b) Explain a modem Backbone with Bridge, Routers and Gateway.
c) Explain Clustering Architecture.
d) What are the advantages and disadvantages of JavaScript.

e) Explain two-way message queuing.



Q3) Attempt Any Four: [4 x 4 =16]

a)  Write a JavaScript code for displaying clock on the browser Window.
b) Write a ASP code to insert record of a student in database. Data has to
be accepted from HTML page. Student Tabel-rollno, name, address.
c) Write a JavaScript to accept two numbers from user and display them in
textboxes. Find the max. of these number & display result in third textbox
after clicking a button.
d) Write a program using a ASP script to for web page to display the
following
#
##
#H##
e) Write a program using JavaScript which shows any four string
manipulation option.
Q4) Attempt Any Four: [4 x 4 =16]
a) Explain Lock Type in ASP?
b)  Write a short note on document object model.
c) What is difference between GUI and Object Oriented User Interface.
d) What is WAN? Explain Home-to-WAN connection.
e) What is fat Server? Explain.
Q5) Attempt Any Four: [4 x 4 =16]
a) Defineterm
)  BandWidth
i) Peer-to-peer communication.
b) Explain cellular Digital packet data and private packet radio provider.
c) Write a short note on Rapid prototype.
d) What is pipe? Give benefits of pipes by using platform.
e) Explain Application and Session Object.

Q00O
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Total No. of Questions : 5] SEAT No. :
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[4766] - 405 [Total No. of Pages : 2
M.C.A. (Commerce) (Semester - 1V)

406 : KNOWIEDGE MANAGEMENT FOR BUSINESS

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.
3) Assume Suitable data if necessary.
4) Answer of sub questions of each questions should be attempted at one place. It
should not be written separately.
Q1) Attempt any four : [4 X 4 =16]
a)  Who is CKO? List the responsibilities of CKO.
b) Differentiate between Al and Natural Intelligence.
c) Explain difficulties in knowledge acquisition.
d) What are the advantages and limitations of rule representation?
e) Describe the general process of uncertainty?
02) Attempt any four : [4 X 4 =16]
a) Why expert system fails?
b) How organizations can motivate employee to share knowledge?
c) Define AT? Explain any two areas of Al.
d) Explain the relation between Expert system and internet?
e) Give an example that illustrates the difference between propositional logic

and predicate logic?

P.T.O.



Q3) Write short note on (any four): [4 x 4 =16]
a) Feasibility Study.
b) Semantic Network.
c) Induction table.
d) Knowledge repository.
e) Methods of knowledge acquisiton.

04) Attempt any four : [4 X 4 =16]
a) Describe knowledge management success factor’?
b) Define Knowledge evalution, validation, verification of knowledge.
c) Whatis meta knowledge? How it is related to the explanation facility?

d) Compare shallow knowledge arid deep know1edge.

e) Explain cyclic model of knowledge management.

05) Attempt anytwo: [2 x 8 =16]
a) Explain backward chaining with exarnple?
b) Explain structure of Expert system?
c) Explain project initialization phase?
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P3290 [Total No. of Pages : 2
[4766]-501

M.C.A.(Commerce) (Semester - V)
501 : CONTENT MANAGEMENT SYSTEM

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) Draw neat diagrams and screenshots wherever necessary.

2) Figures to the right side indicate full marks.

Q1) Attempt any FOUR of the following : [16]
a) Explain-Content is not data.
b) Explain structure by type.
c)  While organizing the information into content, which activities it involves?
d) Whatis Moodle? Explain any three principles of Moodle.

e) Whatis CMS? CM is Collection, Management and Publishing - explain.

02) Attempt any FOUR of the following : [16]
a) Explain ‘Conversion’ from collection system with diagram.
b) How to gauge the complexity by knowing the ‘number of publications’.
c) Explain Web CMS with diagram.
d) Explain-Moodle in education and training.

e) Listthe categories of formatting. Explain - Formatting by method.

P T O.



03) Attempt any FOUR of the following : [16]

a) Explain - Content is information put to use.
b) Explain other publications of publishing system.
c) How to gauge the complexity by Amount of Content.
d) Explain- CM is Distributing Business Value.
e) Explain - Rendering Format.
04) Attempt any FOUR of the following : [16]
a) Content is Named Information - Explain.
b) Explain Administration system.
c) State and explain any four myths about teaching with Moodle.
d) State and explain types of Information.
e) How to gauge the complexity by size of Contribution.
05) Write the steps for the following in Joomla : (Any FOUR) [16]
a) Create a Website for your college course and Add a new article having
subjects of MCA(Commerce).
b) Create a website for Car Showroom and add Meta Tag to it.
c) Create a New User and assign Roles to it.
d) Create a website for Wrist Watch Showroom and Edit the prizes of
watches.
e) Create a website and Delete any old model from it.
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[4766]-502

MCA (Commerce) (Semester - V)
DISTRIBUTED DATABASE SYSTEM (502)

(2008 Pattern)

Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:

1)  Neat diagrams must be drawn wherever necessary.

2) Figures to the right side indicate full marks.

3) Assume Suitable data if necessary.

Q1) Write a note on. (Any Four) [4 x 4 =16]
a) Tp-Monitor Architecture
b) Mixed Fragmentation
c) E-Commerce
d) Quad-Trees

e) DBMS Performance Benchmarks

Q2) Attempt Any Four [4 x 4 =16]
a) Explain different types of spatial queries.
b) Explain Nested and Multilevel transactions with example.
c) Whatisdistributed transaction? Explain ACID properties of transaction.
d) What is deadlock? Explain False deadlock with example.

e) Write a note on parametric queries.

P.T.O.



Q3) Attempt Any Four. [4 x 4 =16]

a) What are objectives of the design of data distribution?

b) Write a note on query optimization.

c) What are different alternatives for allocation of catalog?

d) What is distributed database system? What are its advantages and
disadvantages?

e) Define:
1)  Simple Predicates
i)  Minterm Predicates

Q4) Attmpt Any Four. [4 x 4 =16]

a) What is log record? Which are different fields of log records? What is
use of log record?

b)  Which are optimistic methods for distributed concurrency control?

c) Write a note on deadlock detection.

d) What is use of catalog?

e) Define:

1) Local Transaction
i) Global Transaction
i) Join Graph

iv) DWFG
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Q5) Attmpt Any Four

3)

b)

Transaction T1 and T2 are executing at site 1. Transaction T3 and T4
are executing at site 2. Transaction T5 and T6 are executing at site 3.
Transaction T1 is waiting for T3. Transaction T3 is waiting for T4.
Transaction T4 is waiting for T6. Transaction T6 is waiting for T5.
Transaction T5 is waiting for T2. Transaction T2 is waiting for T1.
Draw LWFG and DWFG. Detect the deadlock.

Consider a relational schema Project(pno, pname, startdate, budget,
status) Perform Horizontal Fragmentation of Project relation using
following predicates.

P1 = o budget < 100000 and o status = 'Incomplete’

P2 = o budget > = 100000 and o budget < = 500000 and o status
='complete

P3 = ¢ budget > 500000

Consider a relational schema

Supplier(sid, sname, addr)

Parts(pid, pname, pdese)

s_P (sid, pid, cost)

Draw the simple and optimized operatior tree for the following query.
Select sname

From Supplier, Parts, S P

Where cost < 1000

And addr =, Mumbai' and pname=" Keyboard'

And Supplier. sid =S_P. sid and Parts. pid=S_P. pid.
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d) Consider a relational schema
Train (tno, tname, dtime, atime, source, destination)
Passenger (Pno, pname, addr, age, gender)
T _P(ton, pno, seatno, amt, date)

Convert the following simple operator tree into optimized operator
tree.

11 tname,pname,date
O aget>60

G amt>1000°

T

G source="Pune’and destination="Delhi’

A

NJto NJpno

ZAVA

Train TP Passenger

e) Consider a relational schema
Preson (pno, pname, byear, income) is horizontally fragmented as
Person 1 = ¢ income < 10000
Person 2 = o income > = 10000 and income<=20000
Person 3 = ¢ income > 20000
Reduce the following query.

Select * from person where income=15000
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P3292 [Total No. of Pages :2
[4766]-503
M.C.A (Commerce Faculty) (Semester - V)
503 : E - COMMERCE PRACTICES AND TECHNOLOGIES

Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) All questions carry equal marks.

Q1) Attempt any four of the following : [4*4 = 16]
a) Explain E-business in detail and explain any one business model.

b) Enlist eight key elements of business model and explain any four in
detail.

c) Define Personalization. Explain Personalization approaches in detail.
d) What is Portal? Explain different types of portals.
e) Explain hacking and types of hackers in detail.

Q2) Attempt any four of the following: [4*4 = 16]
a)  Write note on online credit card transaction
b) Explain encryption in detail.
c) Explain how to host website?
d) Explain any two types of auction in detalil.
e) Explain tools for Interactivity and active content.

Q3) Attempt any four of the following: [4*4 = 16]
a) Explain Analysis and Design phase for building E-commerce website.
b) Explain the need of E-commerce and give advantages of E-commerce.
c) Explain Digital Wallet in detail.
d) Explain Phishing and Spoofing in detail.
e)  Write note on Digital envelopes and Digital certificates.

P.T.O.



Q4) Attempt any four of the following: [4*4 = 16]

a) Write a note on EBPP model.

b)  Write a note on credit card fraud.

c) Explain C2C and B2C business model in detail

d) Explain auction with example and give benefits of auction.

e) Define Encryption and explain Asymmetric Key encryption in detail.

Q5) Attempt any two of the following: [2*8 = 16]

a) What are some of the risks of using PayPal when compared to credit
cards and debit cards?

b) What difference would it make if existing music labels disappear for
lack of revenue?

c) Discuss-PayPal is the largest Peer-to-Peer Payment service.
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P3293 [Total No. of Pages : 3
[4766]-504

M.C.A. (Commerce) (Semester - V)
DATA MINING AND WAREHOUSING (504)

(2008 Pattern)

Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

3) Figures to the right side indicate full marks.

4) Use of Calculator is allowed.

Q1) Answer the following (Any four) [16]
a) Describe the need for developing a Data Warehousing.

b) What is business intelligence? Different applications of business
intelligence.

c) Difference between Data Mart and Data Warehouse.
d) Explain different types of server used for data warehouse.

e) Explain various database architecture used in data warehouse for parallel
processing.

Q2) Answer the following (Any four): [16]
a)  Explain basic data mining tasks with an example.
b) Explain need of data preprocessing.
c) What is data mining metrics?
d) How classification is different from prediction?

e) Explain need of pentaho report designer.

P.T.O.



Q3) Answer the following (Any two): [16]

a)  Apply apriory algorithm for generating large item set on the following

data set

Transaction ID Item Purchased
T1 1,3,4

T2 2,35

T3 1,2,3,5

T4 2,5

b) Explain warehouse architecture with suitable diagram.

c) List the advantages and disadvantages of data mart.

Q4) Answer the following (Any Two): [16]

a) What is Data Integration? Briefly describe issues which are to be
considered during data integration.

b)  Write the difference between data mining and KDD process.

c) The following table consist of training data from customer database the
data have been generalized following tupple having values like RID, AGE,
INCOME, STUDENT, CREDIT_RATING, CLASS: BUYS_COMP
Slove with naive bayesian classification.

X = (Age = Youth, Income = Medium, Student =Yes, Credit_rating = Fair)

[4766]-504
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RID AGE INCOME STUDENT | CREDIT RATING | BUYS_COMP
0L Youth High No Fair No
02 Youth High No Excellent No
03 Mid_Age High No Fair Yes
04 Senior Medium No Fair Yes
05 Senior Low Yes Fair No
06 Senior Low Yes Excellent Yes
07 Mid_Age Low Yes Excellent No
08 Youth Medium No Fair Yes
09 Youth Low Yes Fair Yes
10 Senior Medium Yes Fair Yes
il Youth Medium Yes Excellent Yes
12 Mid_Age | Medium No Excellent Yes
13 Mid_Age High Yes Fair Yes
14 Senior Medium No Excellent No
Q5) Write short note on (Any four): [16]

)
b)
c)
d)
€)

Web Mining.

Clustering in Data Mining.

Star Schema.

Hierarchical Method.

Storage Media in Data Warehouse.
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M.C.A. (Commerce Faculty) (Semester - V)
MATHEMATICS

506 : Operations Research

(2008 Pattern)
Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of non-programmable Calculator is allowed.
4)  Symbol have their usual meanings.

Q1) Attemptany four of the following : [16]

a) How does operations reasearch assist management in decision making?
b) Explain the following terms:

I)  Feasible solution

i)  Slack variables

i)  Surplus variables

Iv) Basic solution
c) Solve the following L.P.P. by graphical method.

Minimize Z = 5x, + 8x,

Subject to the constraints

P.T.O.



d) Show that the following L.P.P. has unbounded solution
Maximize Z = 3x_ + X, — 4x, + 7X,

Subject to

e) Discuss the various steps involved in the applications of PERT and
CPM.

f)  Obtain initial basic feasible solution of the following transportation problem
by North west corner method.

Ware house
= | W, | W, | W, | W,|Supply
Factory
F 14 [ 2545 | 5] 6
F, 65 | 25 phy3hs5y 58y 48> 115
F, 35 3 2\(165 2%, A2l . 464 <[10
Demand Yol hxBag x+ax <o

Also find the corrresponding transpo?%e\t)itiﬁ(%:())(st.2 0

Q2) Attempt any four of the following : [16]

a)  Write the standard form of the L.P.P.
Maximize Z= x, — X, + 2X,

Subject to
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b) Define:
) Event
i)  Sucessor Activity Network.

c)  Write the dual of the following L.P.P.
Maximize Z =X, + 2 X,— X,

Subject to

X—X3X, + 4X><b
d) Solve the following assignmentgﬁﬁobglzear(ﬁ for r%i%?mization.
QXX+ x, =3
Machingg x,, >0
I | A 1| AV
12130 21| 15
Jobs 181339 |31

44| 25124 | 21

o O W >»

23130 |28| 14

e) Findinitial basic feasible solution of the following T.P.by matrix minima
method.
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estination
— | D, | D, | D, | D, | Supply
Origind
0, 0[5 [0 [0 | 100
o, 29 ([26 |[35 | |40 | 250
0, 31 |[33 |[37 [[30 | 150
Demand 90 | 160| 200| 50

Also find the corresponding transportation cost.
f)  Solve the following game by dominance principle.

1 2 3 4 5

Q3) Attempt any four of the following : [16]

a) A business firm produces two types of products P and Q. The average
profit for the product P is Rs. 100 per ton and that for product Q is Rs.
70 per ton. The plant consist of three production departments A, B and
C. The equipment in each department is to be used for 8 hours a day.
Product P requires 2 hours in department A and 1 hour in department C
per ton. Product Q requires 1 hour in department B and 1 hour in
department C per ton. Formulate this problem as LPP for maximum
profit.
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b)

d)

Convert the following transportation problem into linear programming
problem.

estination
— | D, | D, | Supply
Origin
0, B [z ]2
o, 3 (I |24
Demand 16 | 29

Define the following terms with reference to Transportation problems
I)  Unbalanced transportation problem

i) Initial basic feasible solution

i)  Optimum solution

Iv) Dummy destinations.

Explain the following terms in PERT/CPM.

i) Earliesttime

i) Latesttime

i)  Critical Path

Solve the following assignment problem for maximization.

AlA A |A

1 2 3 4

| | 104 140{280| 70

11 137 1e0f 200{ 60

11 { 80| 130{ 300 90

IV | 150 110{ 250| 50

Explain the steps involved in obtaining the optimum solution from initial
basic feasible solution of a transportation problem by MODI metod.
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Q4) Attempt any two of the following : [16]

)

b)

Solve the following L.P.P. by using Big M method.
Maximize Z =60 x, + 96 X,
Subject to
2X +4x,240
3 X, +3x, 235
X, X, =0

17 72

For the following transportation problem obtain the initial basic feasible
solution by VAM (vogel's Approximation Method)

To— D,| D, | D, | D, | D, | Supply
From{
O, 80 69 108 | 64 61 12
0, 47 | 100| 72 | 65 | 40 | 16
O, 16 103 | 87 36 94 20
o, 86 15 57 19 25 8
O, 27 20 72 94 19 8
Demand 16 14 18 6 10

Also find the corresponding transportation cost.

Discuss the role of sensitivity analysis in linear programming. Under
what circumstances is it needed and under what conditions do you think
it is not necessary?
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Q5) Attempt any two of the following : [16]
a) 1)  Definethe following terms
1)  Mixed strategy
2) Pay-off matrix
3) Value of the game
4)  Saddle point

i)  Explain any four points on relationship between primal and dual
problems.

b) For the game with the following pay-off matrix, determine the optimal
strategies and value of the game.

Player B
I 1
| |20 -6
Player A
i |-4( 3

c) What is goal programming ? Clearly states its assumptions.
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